RSCS Name:

Class: Date:

LINEAR FUNCTIONS HOMEWORK

Decide whether the equation is linear or nonlinear, and explain how you know.

1) 2a +3b = 12
2)y =vx -3
3)y=§+6
4)y=§
5)a = nr?

Which table represents a relation that is not a function?

Input |Output Input | Output
1 1 -1 =7
A _ 2 1 C —2 1"
3 1 —é | 13
4 1 -4 105
Input | Output Input |Output
2 0 3 0
B 4 1 D : 5 | 2
6 2 7 7 1
8 0 3 -4




5. The table below shows the price for the
" number of copies made ata Printing

store.

| H
25 | 50 | 100 | 20

$1.25$2.50 | $5.00 | $10.05

Which statement is true?
A. The relation is a function with i
constant change.

B. The relation is a function, byt the
change is not constant.

C. The domain is the number of con:
and the range is the cost. e

D. The relation is not a function,

Graph the data in the table. Decide whether the graph is linear or nonlinear.

3. X 0 1 2 3

y | 4|8 |12]16

4,

x | 12|34
y | 1] 2|6 |2
x |[-1/ 0|1 |2
y |-7/-3| 1|5




